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1, The Production Menction for a commodity 1s
given hy @ = 10 -.."'L‘—I{‘, where @ is the
quantity of Output, L is the quantity of
Labour and K is the quantity of Capital.
Given the above information, which one of
the following is the nature of retern to
scale throughout the function ?

(a} Ceonstant return to scale

{b} Decrcasing return to seale only

{ch  Increasing return to seale only

{d} Both decreasing and increasing return
1o scale

LR lilasticity of substitution in the case of
Iinear—hnmn_geneous production function
cquals to
{a}  unity
{b) more than unity
(c}  less than unity
(dl  zoro

2. Which of the following are the | ymponents
of forcign capilal 7
1 Grants and loare
2. External con . ~r al borrawings
3. Foreign « rec. - westment
4., Devos. s ™ m non-residents
Seleet  he o srect answer using the code |
EVE Y 20w '

(a) 2 3and4
i 1, 2 and 4 anly
£ed 1 and 2 anly
{d} 3 and 4 only
P-LTQ-J-FOP

4,

{2-A}

Consider the following statements ;

The kinked demand curve analysis helps te

explain price inflexibility (rigidity) becausc it

implics thatl an cligapalist would :

1. gain few additional customers from a
price  reduction since the frm's
competitors would also reduce price.

2. lose many of its customer: if ¢ raiszed
its prices sinee rivals v ow. not follow
guit,

3. often find that M, = ."C at the same
output level ewve~ af er costs had
increased.

Which of the stat. went. given above isfare
correct 7

(a} 1 eml
(b} 1 .4
(e} . and ' only
ful 1, 2 and 3

:11.'1'!

Consider the following diagram -

Indusiry social marginal cost
Price4
Industry privale
marginal cosl

Demand curve

= Ouotput

The policiea which will bring a Pareto optimal
posilion may be

1. a corrective tax on the induslry.

2.  a production quota by the povernment.
3.  a subsidy to the industry.

Which of the abuve isfare correct ?

{a) 1only

th) 1andZ2 onby

el 1, 2and 3
{d} 2 and 3 only.
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H.

Under which one of the following conditicns,
does product exhaustion theorem hold ?

{a}) Inocreasing return to scale

(k) Dccreasing return to scale

fe)  Constant return to scale

fd) Constant return te factors of produciivn

7. Public goods are echaracterized by
1, Collective ponsumption
2. Divisibility
3. DNoneezclusion
4. Rival-consumption
Select the correct answer using the code given
below !
{a) land 2
{(hy 1 and'3
{¢) land4
{dy 2 and4d
8. Zuppose the market demand function of a
perfect competitive industry is  given b~
{; = 4,750 — 50 P and market supply func .o..
is piven hy €. =1730+50P. Priee is
cxpressed in rupees. Which onr o” L
following is egual to the market euiibr n
rice ¥
(] Rs. 30
(b) Rs. 20
fe} Rs 25
(d} Rs, 26
o, Market faitue - 4. L 3 because of
1. Exte =l v
2. Au omn oefre information
. I\ orfoct competition
“ale t 1 correct answer using the code given
ber.
fa) 1, 2 end 3
(b} 1 only '
(€} 1 and 2 only
(eld 2 and 3 only
P-ODTO-J-FOP

10.

i1,

12,

{4 - A}

In mational inecom

Given the total cost as €, the price of
labour (L) as Pp, price of capital (K} as Py
from which one of the following functions,
ean an izo-cost curve be drawn ?

(a) K=C/P_+(C/P)L
(b) C=C/P,+(C/P)
{c) C=HK.F, +L.P,

(d) L=C/P -(C/P ,n

aced winting, which one of
the following ia the _..rerence between gross
aggregater an ne. agpreyates ?

fal "o vel o of m:t_indirect Layes

(b Lhe  ralue of consumption of fixed

~amital
{c.  The value of intermediate consemption”

d) The wvalue
expenditure

of final consumption

Cansider the following statements relating
to grose investment in the national ineome
Accournks - '

I. It jucludes the items relatiﬁg to
residential and non-residential
constraction,

2. It takes care of spending on producers’
durable goods,

3. Tt includes
inventories.

changes  in business

- Which of the statements given akove are

correct ?

a) 1 alnd 2 only
(b 2 and 3 only
(c; 1and3 anly
(d¥, 1,2 nnﬂ. 3
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P-DTQ-J-FDP

13. Which onc of the following is the difference
between value at markel prices and value at
factor cost for a national income aggregate ?
(a} Value of consumption of fixed capital
{b} Value of indirect taxes net of subsidies
(e} Value of net factar income earned

abroad
(d}  Value of subsidies net of indirect taxes

14, Given C = 120 + 04 ¥, I = 100, G = 56
(where € = Consumption, T = Inveatment
G = Government Expenditure and
Y = Income); which one of the following is the
value of equilibrium income ?

{a) 36667
fhy  480-00
(cy  3I0-00
(dy 26&-67
15.  Which one of the following is shown by the
Phillips Curve 7
(a} Inverse relationship hLetween real  md
nhominal wages

{b} Invorse relationship between 1. & -at. - [
inflation and rate of unempl yme ¢

{c} Positive relationship betwe: » _ominal
wages and the rate o en Cloy aent

{d) Positive relationship oets een rate of
milation and nc vwinal wages

18, Consider the fhl ~un g 1.d and IS functions -

' LM : ¥ = "5 & 103
.Il.q ‘.l = L-\JE —_ zﬂi
Whith ¢ the following are the equilibrium
incoi & - d interest rate respectively ?
{a) " and 2
{h) 95 and 2
{c) 100 and 3
{(d) 110 and 3

17,

18,

19,

{6 - A

Consider the following statements -

1. Pigou held the view that employment
depends upon money wages and could
be snbstantially increased by curtailing
wages.

2. Keynes held the view that employment
dependa upon  the Ie'l.'rcl ol effoctive
demand which can be ‘ac ased by
leaving money wages inf ...

Which of the statements gi. »n a. we isfare
correct ?

{a} 1 only

(b} 2 only

(c} Both 1 and 2

(d) Neilker ~ nor 7

Which sne -, th . following is related to the

theorr that swpply creates its own demand
and t erefo e full employment is a natural

£l Yo
12t Fuy'a Law
(b)  Pigouw's Law of employmont

Giffen Paradox

(d) XKeynesian Theory of employment

A
E | 2 C+I+G
L :
=1 : C+14+G
o] I » + 1+
& E :E
i

45° .y o 5

0 v v —3* National income
In the disgram given above, point E denotes.
the fill cmployment equilibrium
corresponding to the aggregate dermand
function C+I+G. The ageregate demand

function shifts to C+1+G’. Which ong of the
following is represented by EM (Dropping the
assumption of constant general price level) ?

{al
(b)
(c}
(d]

The inflationary gap
The deflationary gap
The liguidity trap

Saving and investment EAap
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20. X 28.
5,7 ‘
/ :
| / :
r .
Y
O
In the context of the diagram given abowe,
which one of the following statements is
correct 7
(ay Both saving and investment are
ALLOI0ITIO0E,
(bl Baving g’ antonomous bot investment is
dependent on income.
. 24,
{e) Baving iz dependent on income buot
nvestment iz autonomous.
Id} BHoth saving and investment ar.
dependent an income.
21.  The life cyele hypothesis of co su . ~tiou
implics that consumption is relat «d to
(a} price expectation over one» .0 *ime
(b} permanent income
{c)  transitory incoue 5,
(d} expected Iit. ' - income
22,  According - Ke;meé, which one of the
followi. - i neaat by liquidity preference 7
iz R fraining from saving
i, Desire to held cash
(e} A preference to hold assete like honds
and gecurilics which are liquid
(d} Increasing savings in terms of precious
metals '
P-DTO-J-FDOP i 8 = A}

Under leanable funds theory of interesi,
which of the following are included in the
supply of loanable funds 7

1. Current savings

2, Funda released tram cmbudime.nt in
working capital

3. Banlk loans

. Select the correct answer ‘wing Lhe code

plven below :

fa} 1and 2 only
(b} 2 and 3 only
fe)  1and o «uly

dy 1 2.-d3

&b "h wae of the following is represented

o il . intersection of the IS curve and the
Li curve ?

(a) Only a flow equilibrinm

(b) Only n stock equilibrium

(¢} A stock-cum-flow equilibriam

{d} Muoving pway from equilibrium

Which ome ot the following situations accurs
during the peoriod when borrowers
lenders expect inflation 7

and

fa} The nominal rate of interest exceeds
real rate of mterest

{k} The real rate of intercst exceeds the
nominal rato of interest

{z) The nominal rate of interest equals the
real rate of interest

{d) Nominal and -real rates of interest

becomc zoTo
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26, With whom, among the -following, is the
theory that the rate of interest is also a
lactor [or transaction demand for money,
asancisted ?

{a) Baumol and Tobin
th)  Pigow

(e} HKeynes

fd}  Samuelson

27.  According to Friedman, on which of the
following does the velocity of circulation of
money depand ?

[. Market interest rate or bonds

2. Rate of change in general priee lovel

3. Ratio of physical non-human wealth to
human wecalth

4. Ratio of savings 1o investment

Sclect the correct answer using the eodg

given hoelow

fa) 1 and 3 only

(b 1,2 and 4

) 1,2and 3

(d} 4 only

28. Consider the following statermenus

1. Lower the currency-@ :po: ¢ vz i, higher
the money multiplie: '

2. Lower the rese ve-depusa ratia, higher
the mency mwult, lier.

3. Larger th~ m. ue. ¥ base, higher is the
money s. npu, -

4.  Large “he monetary bass, lower iy the
Wi, Y Uy LY. '

Whih  { the statementa given above are

eorey e

(a)  and 3 only

by 1, % and 4

fc) 1,2 and 3

{d} 2 and 4 only

P-BTS J-FDP '

{10 ~ A )

29.

30,

31

a2

In the standard Keynesian IS-LM model, a
decrease in minimum cash reserve ratio will

(al creato demand-pull  inflation in
full-employment '
{h) cresate cost-push inflation m

full-employment
(e} creaic mark-up inflation m
full-ernployment

(d} create demand.-pull inflr ue  if toere is

unemployment

Which one of the follew ag is » cupital receipt
in governmeni budget 2

(a} Interest recei s o loans given by the
Government o ~th- r parties
(b} Thvider © and orofits from public sector

unde: :aklars
{c} FPu.ow »~ of the Government from
. ublic
i) Pn,, 4ty tax receipts
W ek one of the following is mef a tax
sacruice principle ?

ta})  Equal absolute sacrifice

(b} Equal proportional sacrifice
{¢) TFgquel marginal sacrifice
(d) Egqual average sacrifice

Which of the fellowing are the characterietics
of progressive tax 7

1.  Marginal tax rate should be inereasing,

2, Marginal tax rates should be more thar
- average tax rate.

3. Gini  coefficient for the post-tox
digtribution of ineome should be less
than that of pre-tax distribution.

4. Tax amount should be lump sum in
nature,

Select the correct answer using the code given
below :

{a} 1,2 3andd
b} 1,? and 3 only
() 1 and 4 only
{d} 2 and 3 only
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33.

Consider the following statements -
In competitive markets, incidence of tax
1.  is shared by buyers and sellers.

2. on buyers increases if elasticity of

supply incroases,

3. is fully borne by buyers if elasticity of ’

demand 15 zero.

4. is independent of elasticities.

Which of the statements given above are
correct T

{a) 1and?2 only
(b) 1,2 and 3

fe) 3 and 4 only
(d) 2 and 4 only

34. Which ono of the following taxes/cessr
levied by States in India ? '
ta} Tax on motor vehicies
(b} Tax on hotels
(e Educatignal cess
{d) Tax on wenlth
33. The Lorenz “m.- shows the relatiunshiﬁ
between
{a} & set . -ation and income generation
‘M) po, lation groups and their respective
wcotne shures
(] nnemployment and inflation
(d) wage, labour hours and lefsure
F-OTOQ-I-FGP

37,

3H.

(12 - A’}

. given below

(d}

The ecurrency notes in circulation as well as
the proportion of the fotal money supply held
in-the form of eurrency are influenced by
which of the following ?

i. The physical volume of trade and

transactions.
2. The level of prices in the e ... "my.

3. The davelopment of bei ks wd banking
hzhits of the people '

Select. the correct arL 'wer asing the code

{a) 1 only
(k) 2 only
) 1,2 b3

L and uﬂ]}r

Wicr Uf the following are the characteristics
oi fF - fTraditional Soriety’ in Rostow's wtage
theary ?

1. Limited produston function

2. No government intervention

3. Pre-Newtonian :m‘an.ce; and technology
4.  Dominance of agricultural activity

Seloct the correct dnswer using the code
given below :

{a} 1,2 andA4
{E} 1, 2 and 3
(¢] 1,3 and 4
(dy 2,3 and 4

Capital Deepénjng refers to which one of the
foliowing 7

{a)
(k)
(e} A constant eapital-output ratio
d}

Going for more fixed eapital

Emphasis an social overhead capital

An increasing capital-nutpnt ratio
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{c)
{d)
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{a)
(h)
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8. Which of the foliowing initiatives io/are
identified by the 11'® Five Year Plan for
accelerating the  National e-goveTNance
programme ? N
1. Mazking digital signatures mandatoery

for c-commerce, e-government, and
e-banking initiatives. '

% Promoting technologies such as wircless
fidelity (WiFi} for providing the last
tuile connectivity to the places where
cOpper wiring is not possible.

Select the correct answer using the code

given below .

(a) 1 only

by 2 only

te} Both 1and2

{d) Neither 1 nor 2

40, Disguised underemploymeant reférs ko the
situation when
ta) people seem occupied on a full tir .hl

basis even though the services { ey
render require less than full time

{b) workere nre underpaid despi, 2 o
full time job |

{e) there is a co-existence of une: Y Finent
and inflation

{d) the economy expericn s
underemployme: b equilibriuom

41.  Which one of “he % 'lowing is explained by
Fei-Kaniz 1 «da, 7 :
(a} Tk= in ar-relationship hetween the

agr ~ultu.ad and the industrial sectors

(b*  Jlan ‘ng methods when labour is in
.5t supply

{c}  Growth process of the industrial sector

(d) A neo-classical framework of growth
analysis -

P-DTQ-J-FOF

42,

13.

{ 14 = A}

Consider the following statements :

1. The Solow model explains  a
capital /labour ratio which does nas
grow under equilibrium conditisns.

2. Substituting calpital for  labour s
possible in the Sclow maodel.

Which of the statements given .. ve iware
correct 7

fa) 1 only

{b} 2 only

(e} Both 1 and 2
{d) Neither 1 nor 2

Consider the ” 'lowiry atatements -

1. Dualiiv reers to the existence and
F omste. = of increasing  divergences
Etwee | rich and poor nations and rich
ar,’ ~ ur people at varigus levela.

D..dism ia the political division of the
“aciety into two broad groups of the
rightiste and the iofiists in modern
‘democracy.

i

Which of the statements given above isfare
correct 7

ad I only
{b) 2 only
{¢) Both 1 and 2

{d} MNeither 1 nor 2

Consider the following statements :

1. Countries with high per capita income
do have high physical guality ol life
index {(PQLI),

2. Countries with high PQLI need noi
necessarily have high per capita income.

Which of the statements given above isfare
correct 7

{a) 1 only

(b} 2 only”

(c) Bath 1 and 2
{d)] Neither 1 nor 2
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45,  Consider the fillowing - LN
A pood index number is one which satisfies
L Lpit tesi.
2. Time-reversal test,
d.  Factor-reversal test.

Which of the statements given above is/a

N ‘;l -
correct 540,
{a) 1 only
(bl 2 anly

(¢} 2 and 3 only
(d) 1,2 and 3

46. If personal income is Iis. 57,000; personal
imcome  tax is  Ra.  9,000: consumption
R=. 43000, interest payment s 10,000,
personal  saving Hs. 40,000 then the |51,
disposable personal income would be equal Lo

(a) Rs. 50,000
() Rs. 47.000 _
{¢) Rs. 48,000 i
(d) Rs. 40,000

47. A discriminating monopolist charges .

The vorrelation sefficient is independent. of
{a) acale gnly

tb)  origin eniy

(c)  both scale and oiigin

{d} vertex

Which one of the fllowing i, re“rreq to as
lack of peakedness ?

(a) Skewncsa
(b) Kurtosis
(e} Moments
(d}  Mode

The i equa’ty of income can be measured
bv e -
la} W Cam
(b Mean deviation .
{e} Standard deviation

(d} Lorenz curve

Which one of the following is the valus af
mode if mean is equal to 12 and median is
equal to 14 7

(a) 16
{b) 26
fe 18
{d) 13

The weighted average of price relatives,
uging base values as weights, is same as

the

{a) Laspeyres qusli_ntit:,r indlex
(b) Paasche’s price index

(e} Laspeyres' price index

{d) Kelly¥'s price index

a2,

{au}l higher price in the sub-ma ket 7 ot
price elasticity of demand 1s . e

{b) higher price in the b .sariet where
price clagticity of dem v.d ir low _

(¢]  lower priee in he sub-market where
price elasieit f ‘emand is low

(d} Thigher pric. &t the sub-market where
demand 1= low '

48.  Accordi, T Lifc  Cycle Hypothesis, 53.
cong "o o iz related to which ene of the
fellow ng
(a} L.rrent income
(b Pasl pesk level income
{c) Life time expected income
(d}  Price expectations over one’s life time

f-OTa-J-FDP (16 - A
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v34. - If every item in a set of data is multiplied by a
constant, which of the following measures will
rermain unchanged ?

{a) Anthmetic mean

(k) Geometric mean

(e} Varianco

{d} Coefficient of variation

86.  Consider the following atatements -

1. In case of imperative planning, the

' market mochanism is entirely replaced
hy a command hierarchy, while in ease
of indicative planming, it is looked upon
as a way to improve the funetioning of
market svstem, .

2. In case of imperative planning, all
economic activitics befong to the public
sector, while m  ecase of indicative
planning they belong to the private
Acclor, . .

Which of Lhe statements given above isfarc

correct ?

() 1 only

(b} 2 oniy

() Both 1 and 2

{d) Necither 1 nor 2

56. Demographic dividend 1der to.a rise in
population

{2} hetween the ag. group of 1 to 14 Viears

(bl baetween the .~ | oup of 15 to 64 yeary

(c)  between ‘no aer group of 65 to 74 years

{d) abave "4 y 2ars

57. Usual “rngoal Status unemployment iz
cales 1.7 with reference to which one of the

o vw g periods 7.

(a2} Une week

{b] One menth

e}  One year

{d} Five years

F-DTQ-J-FDOP

SH.

68,

&0,

G1.

{18 -4 )

Disguised unemplayment Eenerally oxislain

{a) Manufacturing sector
{b}. Agriculiyre

(¢} Small scale industries
{(d} 1¥frhan societies

Who, among the follow. =, wore the
pioneers in estimating pov. Lty in India For
rural and urbam areas epar tely 7

{a) P.K Bardhar and '.S. Mighas
(b} V.M. D -dekar and N. Rath
(e} M. A l.wa aand P.D, Ojha
{d)] P.W DaCnsta and N. Rath

D' rin ; the year 2006 — 07, which one of the
following states had the lowest per, capita
ceate domestic product on current prices ¥

{a) Uttar Pradesh
(b} Aszgam

(e} Jharkhand

(d) Madhya Pradcsh

Which one of the following statements
regarding Aam Admi Bima Yojana (AABY)
is mof correct 7

ta) It was launched in the year 2007

(b} The contribotiom  of  the Central
government and State governments in
the premium is in the ratio of 75 - 35

(¢} The scheme is applicable to rural
landless households '

(d) It provides insurance againgt natural

death as well ag accidental death
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862. During the year 2006 - 07, which of the
toellawing items under mupafactaring gooda
sector had the highest share in India’s
exparts ?
fa)  Gems and Jewellery
(b} Engincering goods
(e}  Chemical and related produuts.

{d} Handicrafts

63. In which one of the [bllowing years have
India’s pegative trade balances heen the
highest 7
(a} 2003 - 04
(b} 204 - 05
fc) 2005 - 06
{d) 2006 -07

64, As per the Economie Survey 2007 —. %,

which of the are th 1 ~jor
reasons for India's recent shagrish  axp ot

following

performance in Lextiles and elethi @ seowor 7

1. Slowdown in demand 1o . s me major
importers

2.  The depreciation. of US §
3. Labour laws &a - ale economies
4. Higlh rost of pover in India

S5elact . v (orredt answer uging the code
given b low |

(Y ', 4 nd4only
k) 1,2, 3and4
() 1and 2 only
(d} 3 and 4 only
P-DTQ-J-FDP

B5.

66,

87,

[ 20 - A

Consider the following components of India’s
external debl in ierms of their share at
cnd-March, 2008 : :

1. Blultilateral debst
2, Bilateral debt

3. External commereial borrowings
4. NRI deposits
Which of the following i1 = -correch
descending order of the above
{a} 1-2-3-4
bl 8-4-1-2
fc} 3-1-2—4
f[d) 1-3-7 4

Which af ths 1ollowing are the sirategies al
urbon ‘eve! pment adepted in India in the
Fuev: th rive Year Plan ? '

1. E.rengthening urban local - bodies
through capacily building and hetter
financial managemont.

2. Increaging the efficicncy and
productivity of cities by deregulation
and developmeni. of land,

3. Reducing incidence of poverty.

Select the corroct answer using the cade
given below :

(a) 1and 2 only
(b) 2 and 3 only
¢} 1,2and 3 -
(d} 1 and 3 only

In which one of the following years was
gronwih rate in India’s GDP at factor cest and
at constant prices (199% — 2000) the hivhesi ?

(a) 2006 — 07
(b) 2005 - 08
() 2004 — 05
(d) 2007 - 08




62, T 2006-07 B n, R oo &9 @
FrefoRas i & @ S wwi a W= & Fefa F
ﬂﬂﬁhﬁﬁﬂmm?

(2} I @ MO

() 3P awgl

{e) THEA § deeEiead IqE
(@) et

63, Treias ool % & 59 oe af i uRa = =TS
TR Hed Haiiim 6l ?

{a) 2OOZ - 04
(b) 2004 - 05
(e} ﬁﬂﬂ5~ﬂﬁ
(d) 200607

64, T 2007 - 05 & ARG A& H IR F L
o v A A & TW 5 g el wa =
fo FraftiRen 4 & slA9 w ey ?

1. T8 W@ AAw@ o A HE .
2, R glat T Yoags
3. AW ERA 3R TR g
4. ara § &m0 R e
A fRe g B i B OAE IR g -
Y e 1.3 3 4
(b) 1,2 334
o) Haa 1 4R %
(d) Faet 3R 4
P-DTQ-J-FDP

65.

67,

[ 21T = A}

yea & et o & FeafeReo sl w A"
2008 AT T 398 HF ¥ WER 1, %trr{a%‘r'?m

1. aguely =W
2. Teuel =or
3. faeh emiRe sumemso
4, WA uRaR IR g

fa) 1-4-3-4
h) 3-4-1-2
{3 3-1-2-4
fdy 1-3-2-4

wRa § U T A 7 el Rerw g
Frotet ga & Y SRR ORI s

JHAl W wywl aeR finim wEE ga
T K ' e &1 i |

N PfeE @ wER o Yt & e o
wigd! # pEEd § IEHal B 3 |

3. FrAar & W= @ oy FRe )
%ﬁﬂﬂ@ﬁmﬁﬂﬁmiﬁm
{a) e 13k 2

(b)s &ad 2 3R 3

e 1,22R 3

(d) aT 1 AR 3

Frfefias & & f5w om o 4 9Ra B woe Wiy
e B Hafe =<, Fuew ane R R R et
(1999 — 2000) W= Hdiew 4r ?

(a) 200607
(b) 2005~ 06
(c) 2004-05
{d) 200708




68, Which of the following are India’s average [72.
growth rates of GDP at factor cost {at
1999 — 20006 prices) in the Ninth Five Year
Plan and Tenth Five Year Plan respectively 7
{a) 6-0 percent, 8- percent
{h} 53 prrcent, 7-8 parcent
e} 56 percent, 74 percent
{d} 5-8 percent, 85 percent

69. In which onc of the following years of the
Tenth Five Year Plan was the growth rate in
India’s per capita income {at 1999 _ 2000
prices} the highest ?

(a) 2003 - ¢4
{b) 2004 - Q5
{c) 2005-06
(d) 2006 - 07

). Whick of the lllowing are the limitations of
national ineome estimation in India ?

1. Output of non-monetized sector {7:)_

2. Non-availability of data about incom« of
amall producers ur hovachy i
enterprises

3.  Unreported legal income

9, Inflation

Sclect the correct answe: v,mg the code

wiven below - .

{6} 1,2, 3and 4 '

(bl 1, 2and 3 an .

(e} 2and 3 e,

{d} 1and *on'y

71.  Which ¢ e m . e following is the targeted rate
of g L of agriculture in India during the
E. e th ave Year Plan 7
{al 2 percent
{b) 3 perecnt
{e} 1 percent
{d) 5 percent

P-DTO-J-FOP L 22 — A

Which of the following observations were

made by the National Knowledpe
Commigsion with regard te their nutional

FUrvey on innovation 7 -

1. Innovation intensity has increased for
large firms and small and medium
cuterprises (3ME).

2. SMEs are registering . <ates increasc
in inmevation than ‘arg. fir 1a.

Select  the

answr o wsil,, <he code given
halow : :
(a} 1 only
(b} 2 only
h’:l::I l oth 1 and 2

e Teitper 1 nor 2

v 'hiech of the Fnlluwmg statements |s.."are
correct ?

A rise capita income does net
automatically imply an increase in econmmic

welfara hecanse

in  per

1. distribution of income ia not known.
2. rate of growth is not known.

3, it suffers
averages.

from the limitations of

Select the correcl answer using the code
given below :

{a) 1 anly

(b} 2 only

(¢} 1and3 only
td} I, %2 amd 3
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oe) B Haly vt weifte wr &
fa)
(b
fc)
(d}

2003 — 04
2004 - 05
2005 — 06
2006 ~ 07

fFreivfaa & @ SH-wh e J o s
S @ T E 2
1. TSR 8% ® e

2. DR FUEE. W UE I B wg F oar W
gl o 7 foer o

3. rgfga fafers sng

4. gEEwfd

¥ty for e o @ W e A a g -
ta) 1,2 33K 4

th) a1, 2 3w 2

(e) w2 3 »

(dy dad o 4

frafafe 1o | P o, WRa § TR vaadi
g L i @ meTmdt Wik aw B ?

(a) . whreE

YRR I GG

(e} 4 Wi
idy 5 wiged

2.

3.

{ 23 - A )

T FH FE RN AENEET & T ARE
a0 & W ¥ Feefolfeg #§ & 9wy fenr
forme & ?

1. FJawads & e 98 e T B T Aemm
M (SME) 5 791 & |

9. Taugda § B § Heam 309 (SME) w5t me
@ RE g R T e .

I Re e e @ mEm = T I g

{a) ipad 1

{b) A 2

(g3 1AW L=t

(@ F 1 ARTA2

Frfeifgn sl 4 & 2 T wd 8 ¢

afa afes wa ¥ ofy anfie s § - € 9fe
gffean 7 =, =it

1. g % o o 92 AT e |
9. Wgfg ot g = A
3. g it o Gt @ mafie 2t &

| Y fow 7w e @ W e e R g

fa) tHad 1

(b} &HAF 2
fe) woom 132

(d 1,233



74.. Which of the following is/are the targets for
elementary education during the Elevonth

Five Year Plan in India ?

1. Universal enrolment of 6 ~ 14 years age
Eroup children including the
hard-tz-reach segment.

2. All gender, social and regional gaps in
enrolments to be elimineted by -

2011 - 12,

3. Levelling of inatitutions for equality,

Select the correct answer using the code

given below ;

fa} 3 only

L(b) 1 and?2 only
{¢) 2 and 3 only
(d} 1,2 and 3
. 7% In which one of the following vears was th-

National Food Security Mission launched %

{a) 2003 -04

(b) 2004 - 05

fe) 2006 — 07

(d) 2007 - 08

76. The total public =ec. or . tlay in the Eleventh

Five Year Pla « - tral, State and Union

Territorics}  es imated at about

{a) R: 3u - h crores

{(¥* a7 lakh crores

tel  Rs. 40 lakh croxes

(d) IR=. 48 lakh erores

P-DTO-J FOP

T

8.

78,

[ 24 - A}

Which of the following are included in broad
money (M.} in India ?

1.  Currency with the public
2. Demand deposits with banks
3. Time deposits with banks
4. ‘Other deposits with RBI

Select the correct answer u ag .he ‘code
given below

{a} 1, 2 and 3 onl
by 1 and 2 only
f{‘;l 3and oy
(dy 12 3 wma4

Wh'eh .ae of the following is the preseribed
inve “.nent limit for medium enterprises in

e manufacturing sector as per the Miern,

Small and Medium Enterprises Development
Act, 2006 ?

{a} More than Rs. 10 Iakhs and less than
Ha. 2 crores

(b} More than Rs. 2 crares and less thin
Ra. 5 crores

(¢} Moro than Rs. 5 craores and less than
"Rs. 10 crores

{(d} M™More than Ea. 10 u:rc;res

In which one of the following core

infrastructure industries in India was the
growth rate highest in the year 2006 — 07 7

(a) Petroleom refinery products

(b} Finished ateel
{e) Cement
{d} Electricity




75.

78.

P.DTQ-J-FDP

BreffEg & & FF 99 wWRa § redt duatia

A i S arefine Rren @ oed B P

1. 6 14 owg o % @l W, o6 908 96
u@ﬁ%ﬂ?mﬁsﬁﬁa st amie
T

o, amrd ¥ wh Hm, wwRw @ A
I B 2011 — 12 9 HA R |

3. A AR % P SR @ e ST |

3y fer 1 e @ T §R Wl R g

{a) @& 1

() @@ 13k 2

{c) ‘éiﬂﬂ-zaﬂi‘a

(@ 1,224R3
ﬁmﬁfﬁaﬁﬁ%ﬁmwaﬁﬁﬂ@uww
Trem =Y e fiemt T o ?

(&) 2{}133—[}4

(b) 2004-05

(c) 2006-07

{d) 200708

HREd] Seadid g {%f L T TR H I )

ﬁgﬁm&\‘ﬁ»mﬁwﬁﬁﬁﬂ
e o mmT > v

{a) 3 ™ THE T

(b} 36. FINE S,

Srgl 40 FIRE @IS T

(d) 46 Ag TE 5.

T8,

78,

{ 256 — A}

e & Preffan d @ efew o g0 (M

# gitafa [ A & 2

W & g w

#3105 "5 Fmi

s S o P s

4 wedm R i & T s 3

ey fee T o @ v AR Lo
(a) ipae 1,22 3
(b) a1 3R 2
(c) ¥ad 3 IR ¢

vr @, WF evs WEOT foAWgsm AW U9,
0.3 & Grafifan o ¥ o Rfwm
e # 7 ffduior dee & oreafis Jm & fow
Frofe & 7

(s} 10TE T Al od 20908 & & &5

() 2TRE©. AT W 5INT T T A

(c) ,Emﬁ:ﬁmﬁmuﬁmrﬁﬂsﬁ%ﬂ
(d) 10 5RE T F wew

g 8 af 2006 - 6? i PR mre

meﬁﬁﬁﬁawﬁmﬁhﬁﬁ%
W ?

Yo wTas WUF 6 I
(b) TRIX W
(c) WHT

(dy g



80,  Which ene of the following shares in the net |84,
pracend s of shareable Centrol taxes has been
recommended for the States h_v the Twelfth

Finance Commission ?

(a) 2900 percent

(b) 2850 percent

(¢} 30-50 percent

Ad)y  31-25 pereent
Bl. Consider the following importeni sources of

Lax revenue for the Central Government

budgeted for the vear 2008 — 09 -

1. Corporation Lax _

2, Taxes on income other than Corporation
tax '

3. Customs

4. Union excise duties )

Which une of the following is their eurrect

descending order in terms of gross tax

revenac 7

{ay 1-2-2_3

by 1—-2-3 24 |

ey A-1-2_-4

dl 2-3-1-4

B2, Consider the following st tem ote wilh
respect Lo o duopely market w.ch fii._s & and

B .

B4,

L 1f both firms act 15 i1l wors, then they
wil have reaclion e ons.

2. If firm A aet as {~ader and firm B acts
ag [ollow. | o firm A will not have
any e, o v tuoeetion.

3. If “olh firms set as leaders, then the
UL or - is economic warfare,

Whi h o the stalements given above are

R

o 1 and 2 only ‘

(k) 1, 2 and 3

{e) I and 3 anly

{d} 2 aoand 3 only

P-DTQ-J-FDP [ 2686 - A

Match List T with List IT and select the correct
anawer using Lhe code given below the lists -

Lisd I List IT
A Market " 1 Net loss of Lotal
failure surplus
E. Extarnalities 2. Maximisation of
agy .. te
e 3ume % and
Irog eers” surplus
C. Erononiic Ce T impact of one
Cersan’s actions on

cfficiency
' e weli-being  of
nther persons

D. Dead weight ‘4. When prices tail to
loas . provide proper
. signals Lo
consumers md
producers
on A p
A B C D
fa) 4 3 2 1
th} 4 o 3 1
{cy 1 2 4 3
dl 1 4 2 3

Consider the following ;
According to Ricardian theory of distribution
1. rent is price determined.

2. land iz suppozed to have
alternative uses,

VATIGS

3. marginal land earns no rent.

4. rent is A surplos in the sense that it is
an excess over transfer earnings.

Which of the stalements piven above are
correct ?

fa) 1,2and4
(k) 1,3 and 4
{] 2 and 3 only
td) 1 and 4 only
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81.

P-DTQ-J-FDP

ared o ardn gra TEIET S aR B g8
miftat & FHeffEe 4 ¥ oo oF 8w o &
ferm areifae fven nar & 7

(n) 2900 vitEm \

(b) 2B-50 whrEE

@) 30-50 v

d) 31-25 WiRE

FOT TR B T 2008 — 09 ¥ Ao U Re MW ER
a3 Pt seagl O w TR @i

e o

sm7 o P = % iR ax
| EE '
L TR b

mmm%ﬁmmﬁﬁ%ﬁﬁﬁéaﬂw
T% TTET T AR WA § P

fa) 1-2-4-3
h) 1-2-3-4
) 3-1-2-4
dy 2-3-1-4

L L

iR ar TR adfi v 0. ¥ R,

Prerfies el W R B ; |

1. oft 2t o sl v e ¢ e R E T
TG WE yiafed Tt 8

9. @it B AT . om § SR B9 B 3R
¥ A A o 2, i AE T B
Talea T= e .|

3. dRIFE s o o e E,
Fod R, wite ga 2

IR ¥y EE e aea E 7
() Taw 13R 2
1 1,233
(ey el 1 3w 3
(dy %awm 23w 3

B3,

Bd. .

(27 - A

C. s st 3.

B 12 12 A sk g 9
e e e @ N SR EE I U
e 1 g I

A, TR fawea 1. §o AR @ g
G A

B. wEEE - 2. 7w FdweRl IR
JuRE & IO @
AT [

BH wih ¥ T @
T TR ¥ HEa
W

D. FF TR &0 ERRES - I I b A
R TEE @ Iuge
T I O T
& ©

L

- Lo C D

f:J. { 3 2 1

B} 4 2 3 1

fe) 1 2 .4. 3

d) 1 4 2 3

Frefafas R R S -

Rl & faawo & Rigle & srER

1. e dmeteiRa g

2. yftt ¥ sw deloTe yOm & T E

3.  dmia ufy #3 e siFe 1 sl )

4, U 3 o ¥ e 2 wife a8 TR
HIF B RN E L

LS

s &l F d B w7
fa) 1,234

by 1,334

{c) .pad 23R 3

(d} - &pam 1 3T 4



B3,  Match List I with List JI and select. the correct |87.  From which of the following axioms does the

angwer using the code given below the liats : property that ‘indiffercnce curves for a
List}] List I} . comsumer cannof interscct  each other,
follow ?
A. Firm- 1. MC = MR, MC L. Axiom of non satiation
equilibriusn . curve must cut the ! _—_
in perfoct MR ¢ " from 2.  Axiom of trangitivity
competition below - 3. Axiom of reflexivity
4. Axiom of convexity
B. Firm- 2. TR =TC
equilibrium - Select the correct answe  usig the code
. grven helow
in monepaly
market, {a] 1and3
. d
C. Zero profit 3. MC = MR, Price ) 1and4
condition demand  elasticity c] 2and3
is . greater than () 1 nmd .
nne :
' 88. M tch L7 st I with List IT and select the correct
D. Mm?}?:_ 4. Demand = Supply “ns ar v sing the code given below the lists ¢
saithrm List1 ' List I
Code : Nature of MRSWJ {Shape of
— Indifference curve)
A B C D A. MRS, is equal 1. Convex to the
to zero origin
{a} 1 4 3 2
bl 4 3 D ] B. MRSW is 2. Lc‘rnf:ave to the
: constant orign
() 4 2 3 " '
C. MRS, is 3. L shzped
¥ .
Jd) 1 3 2 4 pogitive {Right angle)
n. MRSH is 4. Straight lne
86. If two commed’ ‘as ‘re porfeetly substitutable negative _ with negative
{competitive® ti = 0 sction of change of the slope
cross elast. ity - demand between them will
be Code :
(a)  zer. ' : A B C D
.. o1 2 3 4
‘h;  pusitive (a)
by 1 3 2 4
fc)  negative
() 4 2 3 1
{d) infinity :
. (d} 4 3 1 2

F-DTO J-FRP {28 - A




@Iﬂ@nﬁgﬂﬁa(ﬁmmwa

85.
it ke W Fo T AER IR T w9
sl w@u
A ghgiEfad L MC = MR, MC &
- Helr MR oF & ¥avg A
I B
B, THEHER &1 2. TR=TC
7 -
C. yraEw a3, MC = MR, 3 4
drd oe & s &
D. S&ER Hger A, HEW =
ge -
A B C D
(afl-l 4 3 . 2
by 4 3 2 1
-
(e} 4 ) 3 T
@ 1 3 5 4
86, o & It wiw whRe, « xR €, 6 5 2
& arg o soEe T w0 T T feen W & e
RV
bl . Ta.
(e) =HUTGIG
(d) I
F-DTO-J-FOP

{ 28 - A )

B8,

4. FOETE-HHTET

A B M0 g o R aR W8 R L AR

fa} 133
by 13k 4
fe) 23R3
{d) 13k 2°

w170 1Y e St Rl & AR

ﬁtﬂg'@aﬁmﬁ'ﬂ'?ﬂﬁﬁqﬁﬂz
gt I T I
MES_ @} mgfei) (FETET aF
- BT B
A MRS, X F 1. e % Wik 35
ERGE '
~ B. MRS, e ¥ 2. TR & Wi Haaw
C. MRS, €S 3. L3R
(DI}
L. MRS, S & 4, FOIHS T
AT B TG
L
A B C D
{a) 1 2 3 4
1 3 2 4
(e} 4 2 3 1
d) 4 3 1 2




&,

o1.

92,

P:DTQ-J-FDFP

In the

lang run,  the
relatinnship dependq om  which one of the
following ?

cost and  output

fa} Return tg scale

{b) TFixed pruportion of the variahles
{c} RHeturn to the variable factor

(d) Return to the fixed factor

Balance on Capital account refers to the

{a) mnetion’s net exports

of goods and
SErvIces :
(b} natjon's net exporis of financial claims

{c} npation's net exports of interhational
official rescrve assets

{d) nation’s sum of nel exports of goods,
services and financial cluims

With which one of the following does the
Prebisch — Singer hypothesis deal ?

{a} Terms of trade
countries

of less devels ...

(b  Terms of trade uf developed coun. -es

(¢) Balance of payments of 1o s . relo,ed
countries

(d} PBalance of
courlries

paymer..  of  developed

The effect of trade with " .erent production
pussibilities curve. and identical indifference
curves is toma . ountry

{a} mure epe’ ‘lzed in esnsumption and
le:  4p cialized in production

(b} w. = specialized in production and less
spectalized in consumption

¢, less specialized both in | consumption
and in production

(d} more specialized beth in consumption
and in produaction :

p3.

94,

i,

{30 — A )

Keynes states that the agpregate demand
Tunction is

(@) an increasing function of lhe level of
employmant.

(b} a decreasing function of the level of
employment

e} a cunstan't-functinr O othe level of

employment

{d)  noet related to * 1e les s of employment

Consider the fol win' statements :

1. Brad priec and
in v actl -

interpst. rate vary

2. A tax on personal income reduces

"_pusabie income.

4. According to Say's Law, demand creates
itz awn supply.

Which of the statements given above are
corract ?

{a) 1 and 2 only

(b} "2 and & only

{fc} 1 and 3 only

{d) 1,2Zand3

Impogition of a tariff will change the income
distribution of the tarifFimposing country in
favour of the scarce factor and agrinst the
sbundant factar. This is known as

(a} Leontief paradox

(b} Lerner paradox

{c} Stolper - Samuelson theorem

{d} Metrler paradox
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20,

a1,

8z,

P-DTQ-J-FDP
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{h)
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OrE TEGT £ P

o9 Repfea il & s Rt Reaif
Fataa oot & wae-Aaia R
Eﬁﬂﬁﬁﬂﬁ?ﬁﬂﬂ%ﬂ’ﬁw

{a)
ib}
(e
(d) (IsRa 29 & Yae Igem

fafirm Sames e =5, Wi TEH BRI am)
& HH HNR & « T T, TEH 397 & FT FHT

B & ?

I - 3, o 3T PR T e
A W T

IeTie. . H yampd st fadaw o gewe &
oA fades

Fom #R zoew 2nt & & =y T
e 3R FeEs OR § 5 ot R

(a)

(b)

(c)
(d)

a

P

95,

31 — A}

(b}

& 3 gar fis wwy Jin s

() IR B T & T0A BT £

(b} WHEWEWHW%
(c) AR P T S AT BoH ¢

() VIR T "W T oraw I8 W TE

Fr=feRza Haf w R 5

1. d= &g oF =rF B Loy w0 ¥ oRafim
T E

2. ®fRpr. A T & wEm WG @ w9 B
T d e

3. %6t i SR, i sech wd o o
ﬁqnﬁﬁlﬁ R e T E 7

a FT1dkz

am 2 i 3

(¢c) &ar 133

(d 1,233
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95,

Consider the following statements !

When factor intensity reveraal occurs

1. Heckscher — Ohlin trade model fails.

2. facler price equalization theorem fails.
d.  elasticity of substitution of one factor

for the other i1z much higher in the
productien of a commodity.

Which of the statements given above isfare
correct 7

fal I only
fb) 2 only

¢} 1 and 3 only

dl 1, 2and 3
7. Which of the following are the measures
of Integraled Slum Development Progranm ...

adopted in India in the 11 Five Year P 7

1. Crealing snd uvpdating ds*aba. ~ on
slums. '

2. Using land as & resour e [ aousing
and shelter developme .. for slum
dwellera.

3.  Ashing slum dwell. -~ Lo apply for houae
ioan from go ernmrent.

4, Grantl = ten.re security tﬁ slum
dweli s

Selo.t tie _irrect answer using the eode

gl be. v

(tY _,Z2and3

(Y 1 and 2 only

e} 2 and 4 only

dl 1, Z2and4

F-DTO-J-FDF

103,

{ 32 - A}

Under which one of the following conditiony is -
the gain from international trade maximised ?

(a} Marginal rate of transformation (MRT)
1n production is equal to the wmarginal
rate  of substitution (MRS) in
condumption

(k) MRT in production is gr.a. v than MRS
in consumption

(e} MRT in producti~— iz 'egs than MRS in
eongumption

(dJ MRT in prodn._on and MRS in

consumpti 1 Br eqnal to international
price ratio

Cor _.ler *hr following statemnents regarding
ar umei Y for free trade :

Yree trade leads to maximisation of
gutput, income and employment.

2. Free trade prevents monopoly,
3.  Free trade protects domestic industries.

Which of the statements given abovo islare
correct ?

{a) 1 only

(h) 1 and 2 only
(€} 2 and 3 only
(d) 1,2 and3

If & producer pays the price lor each of the
mputs that it uses, equal to its wvalue of
merginal preduct, then which one of the
following does it earn ?

{a) Positive snpernormal profit

{b) Zero supernormal profit
(¢ Negative supernormal profit
(d) Monapaly profit
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1. T AdwER - SRR 1T Hisd FEwe 8 T
-
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{by #ad Lafw 2
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(d) 1,23k 4
P-DTO-J-FOP

198,

99,

Praffen zomit 3 3 fra v o siekida =R B
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101.

Marghall - Lerner condilion states that the
forein exchanga mavket would be stable if
the sum of the price elasticities of the demand
for imports and the demand for exports is

{a} greater thap one

(bl less than one
(e} egual to one
(4} equal to zero
102. Cuonzider the following statcments .
Under flexible exchange rate system, halance
of payments disequitibria arc eorrected by
1. changes in the exchange rages,
2. miernational flow of wmoney and
FESErves,
Which of the statements given above isfare
correct ? .
(a) 1 only
(hl 2 only
(e} Both 1 and 2
(d) MNeither 1 nor 2
103, Which one of the fo lov.o- is implied by
intarest parity 7 _
fa) Interest ratvs ar~ at par in all the
countries
tb) Move vte..n in spot rates snd forward
rz = 7 the foreign exchange market
are Se o
i)  Pou. dal holders of foreign currency
teposits  view them as not equally
wesirable asset
(d¥ A eonditien that the expected returns
onn deposite of any two countries are
egual when measured in the same
CUITEnCy
P-DTQ-J-FOP

104,

105,

106,

J 34 - A

Which one of the following hest describes the
ninetecnth century gold standard system 7

fa)  Repgulated system with floating
exchange rates

(b} Automatic system with fixed exchange
rates

(e} Regulated gystermn with fixed exchanpge
rates

td)  Auvtometic system ith fcating

exchange rates

Conaider the fellowi 7 st lements regarding
the features of t' .2 Wori. sank -

1.  The Board ~f ‘G vernors is the sUpreme
bodw -

2. Tle vitag power of the governor of a
i «ber country is telated to the
finrncral contribution of the country
cor .erhed.

It gives ghort-term loan to its memboers
to -correct their temporary balance of
payments disequilibrium.

Which of the statements given above isfarc -
correct ¥

fa) 1 only

(b} 1 and 2 only
ey 2 and 3 only
fdy 1,2 and 3

Which of the following isfare the reasons for
the collapze of Bretton - Wooda system ?

1. The refusal by the U.S. Treasury to
ecanvert short term lialality into gold.

2. The U.S. to make dollow
inermvertible, '

3. The devaluation of 1.5, dollar in 1973,

Select the correct answer using the cude given
helow :

IILIFW

() 1 only

{b) 1 and 2 only
{c) 2and 3 only
(d)

-1, 2 and 3
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10%. Tariffieation refars fo
{al replacement of quotas by tariffs only
(b} replaccment of all existing non-tadff
restrictions by taridf '
(¢}  scaling down of tariffs in general
(d) abtaining sanction to increase tariff
rafes
108, Which one of the following is nef correct in
the contexl of 18 and LM framework of the
theory of intarest 7
(a] It integrates money, interest and
income inte a general equilibrium model
of product and money market
(b]  lnvestment and interest are the two
important variables in the model
{c) The theory is propounded by J.R. Hicks
(d} IS rcpresents
equilibriurn  and LM represents .he
praduct market squilibrium
108. The accelerator miodel predict 4. the
changes in investment is dets mir :d sy the
changes in
la} inventory
(b) capital
() interest
{d) output
110. It AY : -hiage in national income, Al =
chaw = i+ . sestment, and k = wvalue .of
muw ‘plie.  then the relativnship can be
LY L -1 *
Ty AY = AT/ &
thy aY=al.k
(¢) AY =Lk /A
dl AY=1.Ak
P-DTQ-J-FOP

112,

-

Given, MPC = 08 apd the threshold
consumption = 100, which one of the following
is the corresponding saving function ?

() 100 +0-2Y

by 100+ 0-8Y

{c}) —-100+02Y

d} 490 + 32 Y

Acmrdiﬁg to  the cla sical thoory aof

employmént, devi-%io. a fri 1 the statoc of full
omployment are of

" (a) permanent o .re
b} pu el crmparary nature
{e) imap..ary situations

114,

1368 - A}

U -~ mal situations

the money markei |A 3. Lne costs of factors of production, supplied by

the entrepreneur himself are known as

{a} implicit costs
() explicit costs
{c) fized costs
(@) variable costs

Effective demand is that level of demand at
which

(a}) aggregate demand Js5 more than
aggregate supply

(b) aggregate demand is less than
aggregate supply

{e) aggrogate demand is equal to aggregate
supply

{d) output is maximum
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(a)
(b)
(c)
{d)

R AY = T (v Y Rada, al = fhdw &
oftgd, 2k k = PR Ted #, 99 e e Ry
form o wEe Y

(ﬂj ﬁ‘.l.“—tu"tk
k1 AY - Al . k
(@ aY =k/al

AY =1, Ak

IS qp1 TR Ege @ g & § AR
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112.
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(a} 100+ 02Y
(b) -100+08Y
(¢} —100+02Y

(d) 400+ 02Y
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115. Consider the following two demand curves |[116.
DD,, and DI}, Supposing km = mn, which
one af the following is the price elasticity of
demand at point m ?

Price

Iy ' 117,

rlm il
\\ Quantity
Dy Dy Dernanded
{a) It is the same as the price elasticity of 118.
demand at point n
(b} It is greater than the prico elasticity of
demand at point n
(e} Tt ia smaller than.the price elasticity of
demand at point n
{d) It is half the price elasticity of demand
at point n 11,
Directions : The following five (5) itens o 5is U
two staternents, one labelled asz the ‘As. -riion
(A)" and the other as ‘Reason (R} ¥ «a: to
exarine fhese twe statements ¢ ub and
select the answers fo these {°ms g the
codes given below: : 120

Codes :

{a) REoth A and R are ‘adiv dually true and
E i3 the enrr »ct explanation of A

{b) Boeth Aa 'R reindividually true but R
« 1z pod e  arr.ot explanaticn of A

{cd A st we boy R is false
(d} A1 fa. :but Ris true

P-OTQ-J-EDP | _ ( 38 - A )

Azzertion (4) ;

KReason (R)

Aggertion (A)

Reason (R) :

Asgertion (A :

Re sor ¢ 1) :

Assertion {A) :

Reason (R} :

Asseriion (A) -

Reason (R) :

Marginal cost curve is U
shaped.

The law of variable proportions
cperates in production aphere,

A firm  under monapohistic

_competition m.ws extra

expenditury .. adve. ‘isement.

There ... *ra. entry and free
exit of firmsz under
o~ ooy Nisti | eompetition.

The inoney ereation muMiplicr
1. zqual to the racipracal of the
roinimim reserve raifo.

The banking system as a whele
czn grant new credit up to an
amount of excess rescrves.

Inflaticnary gap is caused hy
oxcess demand, -

Excess demand is due to
searcity of supply of money.

The doctrine of unbalanced
growth is based on creation of
tmbalances in the economy in a
CONECIIS Manner,

Unegual developmaent of
vartous sectors often generates
conditions for rapid
developmant,
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Note ; English version of the instructions is printed on the front cover of this Booklet.







